<
SR
— | <C
3 Q
O o
N
o o
=
—
~
<
<
m
()
MARGRS
o a
o s
L °
A
o
(@]
= n
™
—
>
<
WDAI
B |
< |3
-
o | a
al9

Q
hansa24

LY W W W




3400

100
Lh

fal’

1485
3200
3000
2912

FaL

100
L,

+

H=1790 m

TOTAL: 8.48 m2
i
3400
10044 2912 100100
100 3200 L
‘ 3000
) 2912 )
o
o
N o
o
IJ T
T~
>
oo 8.48 m2 ® ~
;1-(2
<t
=
g Ol
Wiz WIoEKT IJ N
200 o
L1, 100
100 1031 ) 850 ) 1031 100
7 1004 7 7 ['.444 7
o Nora F 320x320 44 U G0144
}‘f Z"ﬁ iT (:; E} 24<) Drawing/Zeichnung Plan_Grundplan Format A3
Profile/Profil 44)(135 Scale/MaRstab 130 Date 10052023




2980 .

10

678

1485
AT1
AT2
AT3
AT3

678

10

AT3 "
\x o
r{/\ m m — o
W > ” Q
AT3
S, 512, 512
70 70 10 10

0o L Nora F 320x320 44 o G0144
(
hansa24 s/ oere=s  Foundation plan_Lagerholzplan Format A3

Profile/Profil 44)(135 Scale/MaRstab 130 Date 10052023




Pos Model pes| Profile Length
Nora F 320x320 44 (mm) (mm)
Notice! The gable pieces can be partly pre-assembled!
Please nofice - fhase differ from the description given in the specification list
Achtung! Die Giebelbohlen konnen feilweise schon vormonfiert sein!
Bitfe beachten - diese erscheinen nichf ganz so wie in der Teileliste Beschrieben
\/— Cut into length on site (if needed])! / Bitte selber anpassen (falls notig)!
003 1&& 2912 %O spare log/Ersatzteile 1 L4y 135 3200
001 | 5 2l >, 2 | &4x135 | 3400
002 i = — 2| &4x135 | 3200
003 st 2h 5 25 | 44x135 | 3200
004 e — 1] 44x135 | 3200
005 hit & Sl 15 | 44x135 | 3200
006 it i i 1| 4Lx68 | 3200
007 hit e Sl 1| L4x135 | 3200
008 2 | LL&x135 | 2340
009 N 8 | L4x135 | 1175
010 — 2 | LixeB | 858
011 o 28 | L4x135 | 858
012 — Lo | LLx13L 569
FOUNDATION BEAMS (impregnated) - FUNDAMENTHGLZER (impragniert)
AT 2 TOxL5 2980
FOUNDATION BEAMS (impregnated) - FUNDAMENTHGLZER (impragniert)
AT3 ) 6 TOxL5 2840
FOUNDATION BEAMS (impregnated) - FUNDAMENTHGLZER (impragniert)
AT? 1 TOxL5 1485
PURLINS - PFETT
PR - & &0 3| 70x145 | 3400
ROOF BOARDS - DACHBRETTER 2/ /5 162+1 113x18 1747
FLOOR BOARDBS - FUSSBODENBRETTER 2/ /5 126+1 113x18 2907
38
Ceiling mouldings - Deckenleisten \/ é 15x28 e/l
‘ 13
Floor mouldings - Fussbodenleisten \/ ) 18xL.0 /L
7.8
RLIOT-1| Eave slat - Traufenleiste 18x.40 \/ v 18x 40 /L
ool | Eave slat - Traufenleiste 18x58 7777} | 2| 18x58 | 3400
U4 | Gable board - Giebelbrett 18x120 V. 33 077777770 | & | iexi20 | 1847
VKL | ganl G fo 18x58 \VARNS 18x58 | 18
021 able cover slaf - Giebeldeckleiste 18x ) b X 1847
Kood  Nora F 320x320 44 Mater|al ‘ File  GO0144 Nora F 320x3%0ém‘dwg1/4



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Nora F 320x320 44

AutoCAD SHX Text
1/4

AutoCAD SHX Text
G0144 Nora F 320x320 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Nora F 320x320 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
001

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3400

AutoCAD SHX Text
200

AutoCAD SHX Text
2912

AutoCAD SHX Text
200

AutoCAD SHX Text
002

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
003

AutoCAD SHX Text
25

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
004

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
005

AutoCAD SHX Text
15

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
006

AutoCAD SHX Text
1

AutoCAD SHX Text
44x68

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
007

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
008

AutoCAD SHX Text
2

AutoCAD SHX Text
44x135

AutoCAD SHX Text
2340

AutoCAD SHX Text
009

AutoCAD SHX Text
8

AutoCAD SHX Text
44x135

AutoCAD SHX Text
1175

AutoCAD SHX Text
100

AutoCAD SHX Text
1031

AutoCAD SHX Text
010

AutoCAD SHX Text
2

AutoCAD SHX Text
44x68

AutoCAD SHX Text
858

AutoCAD SHX Text
713

AutoCAD SHX Text
100

AutoCAD SHX Text
011

AutoCAD SHX Text
28

AutoCAD SHX Text
44x135

AutoCAD SHX Text
858

AutoCAD SHX Text
713

AutoCAD SHX Text
100

AutoCAD SHX Text
012

AutoCAD SHX Text
4

AutoCAD SHX Text
44x134

AutoCAD SHX Text
569

AutoCAD SHX Text
AT1

AutoCAD SHX Text
2

AutoCAD SHX Text
70x45

AutoCAD SHX Text
2980

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT3

AutoCAD SHX Text
6

AutoCAD SHX Text
70x45

AutoCAD SHX Text
2840

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
AT2

AutoCAD SHX Text
1

AutoCAD SHX Text
70x45

AutoCAD SHX Text
1485

AutoCAD SHX Text
FOUNDATION BEAMS (impregnated) - FUNDAMENTHÖLZER (imprägniert)

AutoCAD SHX Text
PR1

AutoCAD SHX Text
3

AutoCAD SHX Text
70x145

AutoCAD SHX Text
3400

AutoCAD SHX Text
PURLINS - PFETTEN

AutoCAD SHX Text
200

AutoCAD SHX Text
2912

AutoCAD SHX Text
200

AutoCAD SHX Text
ROOF BOARDS - DACHBRETTER

AutoCAD SHX Text
62+1

AutoCAD SHX Text
113x18

AutoCAD SHX Text
1747

AutoCAD SHX Text
FLOOR BOARDS - FUSSBODENBRETTER

AutoCAD SHX Text
26+1

AutoCAD SHX Text
113x18

AutoCAD SHX Text
2907

AutoCAD SHX Text
Ceiling mouldings - Deckenleisten

AutoCAD SHX Text
15x28

AutoCAD SHX Text
38

AutoCAD SHX Text
Floor mouldings - Fussbodenleisten

AutoCAD SHX Text
18x40

AutoCAD SHX Text
13

AutoCAD SHX Text
Eave slat - Traufenleiste 18x40

AutoCAD SHX Text
18x40

AutoCAD SHX Text
7.8

AutoCAD SHX Text
RLI01-1

AutoCAD SHX Text
Eave slat - Traufenleiste 18x58

AutoCAD SHX Text
2

AutoCAD SHX Text
18x58

AutoCAD SHX Text
3400

AutoCAD SHX Text
RLI

AutoCAD SHX Text
02-1

AutoCAD SHX Text
Gable board - Giebelbrett 18x120

AutoCAD SHX Text
4

AutoCAD SHX Text
18x120

AutoCAD SHX Text
1847

AutoCAD SHX Text
VLA

AutoCAD SHX Text
02-1

AutoCAD SHX Text
Gable cover slat - Giebeldeckleiste 18x58

AutoCAD SHX Text
4

AutoCAD SHX Text
18x58

AutoCAD SHX Text
1847

AutoCAD SHX Text
VKL

AutoCAD SHX Text
02-1

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
rm/lfm

AutoCAD SHX Text
13.3%%d

AutoCAD SHX Text
003

AutoCAD SHX Text
1

AutoCAD SHX Text
44x135

AutoCAD SHX Text
3200

AutoCAD SHX Text
100

AutoCAD SHX Text
2912

AutoCAD SHX Text
100

AutoCAD SHX Text
spare log/Ersatzteile

AutoCAD SHX Text
Notice! The gable pieces can be partly pre-assembled!  Please notice - those differ from the description given in the specification list.

AutoCAD SHX Text
Achtung! Die Giebelbohlen können teilweise schon vormontiert sein! Bitte beachten - diese erscheinen nicht ganz so wie in der Teileliste beschrieben.

AutoCAD SHX Text
- Cut into length on site (if needed)! / Bitte selber anpassen (falls nötig)!


Poc Madel Pes Profile |Length
Nora F 320x320 4k (mm) (mm)
G001 | Diamond - Diamant <> 7
LK Hit block - Schlagholzer @ 3

2N57003 Nails - Nagel 25x60 for floor boards - fiur Fussbodenbretfer =————— |312

2NB,OOw gj!ib}gaﬁ%? vierkant 25x50 for ceilina boards - fur {1372

g%@? Screws - Schrauben 3.0x30  for ceiling mouldings - fur Deckenleisten < | 60

é&g Screws - Schrauben 3.0x30  for eave slafs - fur Traufenleisten s | 16

%6%} Ejgigsd—eicehéfeu:em 3.0x30  for floor mouldings - fur P

ggég Screws - Schrauben 3.5x45 (3 for diamonds - fur Diamanfen s | 4

é?ig %E;eu?esngéi:rearubem 35x45 (3 for eave boards - fur 1116

égig éi[@rbeewlgr—@i[ehrraubem 3.5x45 (3 for gable boards - fur 11 16

é@i? écerbeewlze—[i[eih;aeunbem 35x45 (3 for gable cover slafs - fur 1| 16

égég Screws - Schrauben 5.0x100  for foundafion beams - q} 36
fur Fundamentholzer

KL1 | Threaded rod - Gewindestange M8 QDI | 2000

KL2 | Threaded rod - Gewindestange M8 OO | 4 258
Nut - Mutter M8 @:l L
Washer - Scheibe M8x24 L
Exfended nut - Langmuffer M8 L
Drive-in nut - Einschlagmuffer M8 ﬁp b

Kood NoraF 320x320 L4 Materjal File  GO144 Nora F 320x3§%0éﬂ¢dw92/4



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Nora F 320x320 44

AutoCAD SHX Text
2/4

AutoCAD SHX Text
G0144 Nora F 320x320 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Nora F 320x320 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
GD01

AutoCAD SHX Text
Diamond - Diamant

AutoCAD SHX Text
2

AutoCAD SHX Text
LK

AutoCAD SHX Text
Hit block - Schlaghölzer

AutoCAD SHX Text
3

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2503

AutoCAD SHX Text
Nails - Nägel 2.5x60   for floor boards - für Fussbodenbretter

AutoCAD SHX Text
312

AutoCAD SHX Text
N-0

AutoCAD SHX Text
2501

AutoCAD SHX Text
Nails - Nägel vierkant 2.5x50   for ceiling boards - für

AutoCAD SHX Text
Dachbretter

AutoCAD SHX Text
372

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3001

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for ceiling mouldings - für Deckenleisten

AutoCAD SHX Text
60

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3002

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for eave slats - für Traufenleisten

AutoCAD SHX Text
16

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3003

AutoCAD SHX Text
Screws - Schrauben 3.0x30   for floor mouldings - für

AutoCAD SHX Text
Fussbodenleisten

AutoCAD SHX Text
24

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3523

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for diamonds - für Diamanten

AutoCAD SHX Text
4

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3525

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for eave boards - für

AutoCAD SHX Text
Traufenbretter

AutoCAD SHX Text
16

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3527

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for gable boards - für

AutoCAD SHX Text
Giebelbretter

AutoCAD SHX Text
16

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3521

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for gable cover slats - für

AutoCAD SHX Text
Giebeldeckleisten

AutoCAD SHX Text
16

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
5080

AutoCAD SHX Text
Screws - Schrauben 5.0x100   for foundation beams -

AutoCAD SHX Text
für Fundamenthölzer

AutoCAD SHX Text
36

AutoCAD SHX Text
KL1

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
4

AutoCAD SHX Text
2000

AutoCAD SHX Text
KL2

AutoCAD SHX Text
Threaded rod - Gewindestange M8

AutoCAD SHX Text
4

AutoCAD SHX Text
258

AutoCAD SHX Text
Nut - Mutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Washer - Scheibe M8x24

AutoCAD SHX Text
4

AutoCAD SHX Text
Extended nut - Langmutter M8

AutoCAD SHX Text
4

AutoCAD SHX Text
Drive-in nut - Einschlagmutter M8

AutoCAD SHX Text
4


Model Profile |Lengfh

Fos Nora F 320x320 44 S ) | ()
WINDOW 830x550 1
W5-SLLK-0XT-08300550
830
| W106-KT
o ..
n PN Tempered glass - Gehartetes Glas
Opens inside - Offnet innen
VI | Rain deflector - Regenabweiser § 1] 36x134 | 1030
KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur q
3524 | Tir- und Fensterleisten 20
KR-0 | Screws - Schrauben 4.0x60 (3 for rain deflector - fur 3
4001 | Regenabweiser {

Kood NoraF 320x320 44 Mater jal File  GO14L4 Nora F 320@#@% dwa/L



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Nora F 320x320 44

AutoCAD SHX Text
3/4

AutoCAD SHX Text
G0144 Nora F 320x320 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Nora F 320x320 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
WINDOW 830x550

AutoCAD SHX Text
 W5-S44K-0XT-08300550

AutoCAD SHX Text
1

AutoCAD SHX Text
Rain deflector - Regenabweiser

AutoCAD SHX Text
1

AutoCAD SHX Text
36x134

AutoCAD SHX Text
1030

AutoCAD SHX Text
VIHM

AutoCAD SHX Text
01-1

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
20

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
4001

AutoCAD SHX Text
Screws - Schrauben 4.0x60 C3   for rain deflector - für

AutoCAD SHX Text
Regenabweiser

AutoCAD SHX Text
3


Poe Model Pee Profile |Lengfh
Nora F 320x320 4L (mm) (mm)

DOOR 1465x1975 1
D5-DELR-XXX-14651975

1465

| D203-RX

Right handed - DIN rechts
Opens outside - Offnet aussen

1975

01-7 | Raindeflector - Regenabweiser g 1 36x 134 | 1665

KR-0 | Screws - Schrauben 35x45 (3 for door and window frims - fur q
3524 | Tur- und Fensterleisten

KR-0 | Screws - Schrauben 4.0x60 (3 for rain deflector - fur ﬂ L
L00T | Regenabweiser

Kood NoraF 320x320 44 Mater jal File  GO14L4 Nora F 320x3#®éﬁ¢dv&y/h



AutoCAD SHX Text
Kood

AutoCAD SHX Text
Materjal

AutoCAD SHX Text
Leht

AutoCAD SHX Text
File

AutoCAD SHX Text
Nora F 320x320 44

AutoCAD SHX Text
4/4

AutoCAD SHX Text
G0144 Nora F 320x320 44.dwg

AutoCAD SHX Text
Pos

AutoCAD SHX Text
Model

AutoCAD SHX Text
Nora F 320x320 44

AutoCAD SHX Text
Pcs

AutoCAD SHX Text
Profile

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
Length

AutoCAD SHX Text
(mm)

AutoCAD SHX Text
DOOR 1465x1975

AutoCAD SHX Text
 D5-D44R-XXX-14651975

AutoCAD SHX Text
1

AutoCAD SHX Text
Rain deflector - Regenabweiser

AutoCAD SHX Text
1

AutoCAD SHX Text
36x134

AutoCAD SHX Text
1665

AutoCAD SHX Text
VIHM

AutoCAD SHX Text
01-2

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
3524

AutoCAD SHX Text
Screws - Schrauben 3.5x45 C3   for door and window trims - für

AutoCAD SHX Text
Tür- und Fensterleisten

AutoCAD SHX Text
28

AutoCAD SHX Text
KR-0

AutoCAD SHX Text
4001

AutoCAD SHX Text
Screws - Schrauben 4.0x60 C3   for rain deflector - für

AutoCAD SHX Text
Regenabweiser

AutoCAD SHX Text
4


Roof Boards

Dachbreffer
Gable boards
Traufenbretfer KLT+KLZ —L2
Eaves sfrips
Traufenleisten
011 Tl 011
011 Hll 011
|H 011 T 011
iy 011 Hl] 011
|H 011 I 01w
H 011 o 2
iy 011 4 Hl| 011
1 011 S T o
|H 011 T 011
|H 011 T 011
L[] 011 H1l 07
|H 011 11 o1
H 011 11 o1
1H 011 T 011
Wall/Wand A ~ 010 010
Ll 714 | 1485 | 7L 1
100 44 Lk 100
é) 2956 Cb
3200
/WaH Logs
Wandbohlen
Floor Mouldings
Fussboden ewsfe
hn.
10 \ Floor Boards
Fussbodenbreffer
Foundation Beams 0o Heme Nora F 320x320 44 U G0144
Fundamentholzer han5824§ Drawing/Zeichnung WaII/Wand A Format Ad
Profile/profil 4 4x13.,5 | scale/Mabstab 1:30 pate 10.10.2023



AutoCAD SHX Text
Wall/Wand  A

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
002

AutoCAD SHX Text
007

AutoCAD SHX Text
008

AutoCAD SHX Text
010

AutoCAD SHX Text
010

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
011

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
KL1+KL2

AutoCAD SHX Text
KL1+KL2


KL1+KL?2

I
I
o
S
U
2L98

Wall/Wand B T L 0 006 |

Ll 2912 1
100 4b L 100
| 2956 |

3200

Nome Nora F 320x320 44 KU 50144

Qo
I1 a n S a 24 ? Drawing/Zeichnung Wa”/Wand B Format A4
n Profile/Profil 44)(13 . 5 Scale/MaRstab 1 : 30 Date 10 10 2023



AutoCAD SHX Text
Wall/Wand  B

AutoCAD SHX Text
2

AutoCAD SHX Text
1

AutoCAD SHX Text
002

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
005

AutoCAD SHX Text
006

AutoCAD SHX Text
008

AutoCAD SHX Text
012

AutoCAD SHX Text
012

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
PR1

AutoCAD SHX Text
KL1+KL2

AutoCAD SHX Text
KL1+KL2


Gable cover boards 3400
Giebeldeckleisten
Roof boards 1200 2001

Dachbretter 1

L Gable boards
Giebelhretter N N

i X 001
. L
Roof beams B | 003

Dachbalken 1 H 1003

] H | 003
] H | 003
] H | 003
] H | 003
] H ] 003
] H | 003
] H | 003
] H | 003
] H | 003
] H | 003
] H | 003
] H ] 003
H | 003

2160

Wall/Wand 1 T —

1 2912 L)

| 2956 |

3200

0o L Nora F 320x320 44 50144
(
hansa24g ™~ Wall/Wand 1 ot A4

A Profile/Profil 44)(13 . 5 Scale/MaRstab 1 : 30 Date 10 10 2023



AutoCAD SHX Text
Wall/Wand  1

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
001

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
AT1

AutoCAD SHX Text
AT1


3400

N H ) 001
| H o] 003
B 009 ] 009
M 009 1 009
M 009 1 009
M 009 1 009
| 0o 004
| H o] 003
| Ho| 003
i 0o 003
i 0o 003
] H ] 003
] H | 003
| H o] 003
| 0o 003
H | 003

600

2160

Wall/Wand 2 T —r

1 1031 | 850 | 1031 0

| 2956 |

3200

0o L Nora F 320x320 44 50144
(
hansa24g ™~ Wall/Wand 2 ot A4

A Profile/Profil 44)(13 . 5 Scale/MaRstab 1 : 30 Date 10 10 2023



AutoCAD SHX Text
Wall/Wand  2

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
001

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
003

AutoCAD SHX Text
004

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
009

AutoCAD SHX Text
AT1

AutoCAD SHX Text
AT1


